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YPoK MaTeMaTUKK
1 Knacc, cucrtema 3aHKoBa

CnoxeHue oAHO3HAYHbIX YUcen
C nepexonom Yyepe3s OeCATOK
pa3HbIMM criocobamn

[1lpe3eHTauunto nogrotosuna
KoHoBanosa N.A.
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MaTtemaTuyeCcKnu OUKTaHT
Cymma vmcen 10 m 2.

4 yBenn4nTb Ha 3.
Pa3HocTb yncen 9 m 4.
YMmeHbwntb 10 Ha 1.

~ Ha ckonbko 5 6onbLue 27?

12 7 5 9 3
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9+3=0+(1+2)=(9+1)+2=10+2=12
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PaboTta B napax
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l’ PaboTta B rpynnax

6+5,i6+(4+1 )=(6+4)+1=10+1=11

8+3=8+(2+1)=(8+2)+1=10+1=11

(14+3)=(9+1)+3=10+3=13

1+7=7+(3+4)=(7+3)+4=10+4=14 m




CocTtaB uucna 12

E 9+3=12
} 8+4=12
-+ 7+5=12

I " 6+6=12 I






